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tanx—+/3=0
tan2x+1=0

tan’x—-3=0

tan(x—%)+tan(5§—x)= 2J2

tan(x+£)+cotg(£—3x):0
3 2
T 51 2\/§
tan(x+-—)+cotg(——-X)=——
( 12) 9(12 ) 3

tan(2x)—cotg(x—%):0
X X

tan(l+—).tan(l-—-)=-1
( 2) ( 3)

3«/§sinx—cosx:3\/§cscx—secx

sin3x+sinx
COS3X + COS X

c0s® X + in® X + sin X cos? X + €os X sin® X = +/2 cos X

tan > _1

tan x = x
tan—+1
2
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neno matica f(x) ))
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J3tanx+1=0

3tan? x —4+/3tanx+3=0

sin(£+2x)

—12 > 3

Y4

sin(=—=—2x)
12

tan®x —3+/3=0
tan(n—ﬁ) tan(2x +£)—1
27 4

tan 2x +tan§=0

cotg(270-x) _ 1
cotgx 3

1+sinx+cosx+sin2x+cos2x=0

cos'a sin‘a
+ =1

cos’x  sin®x

Sin X +SiN3xX+sin5x+sin7x
COS X + COS 3X + COS5X + COS7 X

=tan 3x
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